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A Modeling Warm Up...

Two friends were trying to see how far and how high they could throw a baseball in the air. Henry went first
and threw his ball along a giant arc. It would have travelled a total of 100 feet along the ground but on the way
back down from its peak height of 20 feet, his baseball hit the top of a light pole and fell straight to the ground.

Jeremy went second. His throw went even higher up to 32 feet, but incredibly his ball hit the top of the very
same light pole as Henry’s. Jeremy’s throw would have travelled a total distance along the ground of 80 feet
had it not hit the pole.

So, how how far away from the boys was the light pole? And how high was the light pole?

(Make a neat sketch, label key points, Create a system of equations)
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